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A|-0| = Weight Moment of inertia
s ke X10"*kgm’
35 0.10 0.0383
42 0.17 0.0855
50 0.26 0.207
INPUT SHAFT FOR 35842 o e YT
80 091 163
[mm]
*gitz- (R ST T i T TN I T T R T
35 | 44 | 38 | 50 |[8(6)| 35 | M3 | 285 | 175 | 6 2 11 | 158 6 | 185 -
42 | 54 | 48 | 60 [16(12)| 35 | M3 | 325 | 20 | 65 | 25 | 125 | 158 | 8 | 207 | -
50 | 62 | 54 | 70 [16(12)] 35 | M3 | 335 | 215 | 75 3 12 | 248 | 12 | 215 | 4
63 | 75 | 67 | 85 [16(12)| 45 | M4 | 37 | 24 | 10 3 13 | 278 | 14 | 216 | 5
80 | 100 | 90 | 110 [16(12)| 55 | M5 | 44 | 28 | 14 3 16 | 278 | 14 | 236 | 5
AFO| =
D au | eh | @8 | s | W | er | SY || G| es | x| &y | &
35 - 25 | 17 | 11 | 235| 6 45 | M3 | 24 | co5 | co3| 17 1 38
42 - 3 19 | 10 | 27 6 55 | M3 3 | cos5|co3| 19 1 45
50 | 138 | - 24 | 16 | 32 8 55 | M3 3 |co5|co5| 25| 15 | 53
63 | 163 | - 30 | 20 | 40 8 65 | M4 3 |cos5|co5| 23 | 15 | 66
80 | 163 | - 40 | 26 | 52 8 88 | M5 | 32 | co5 | co5| 268 | 15 | 86
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*1 -CN and -CF are different in dimensions. The -CF value is shown in ( ).
*2 For details in the input section, please check the drawings.



